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01 Choose the correct option for following que
’ compulsory and carry equal marks oo
1. Hooke's law holds good up to
Option A: | yield point
Option B: | limit of proportionality
Option C: | elastic limit
Option D: | plastic limit

2 If equal and opposite forces applied
) called :
Option A: | internal resistance
Option B: | transverse stress
Option C: | tensile stress
Option D: | compressive stress

3. If the radius of wire
Option A: | become four times
Option B: | halved
Option C: | doubled ey
Option D: | remain unaffected

4.
Option A:
Option B:
Option C;
Option D:

of:a simply supported beam?

Cu ate the Euler’s crippling load, if the effective length of column is 10 m take flexural
rigidity as 6.14 x 1010 Nmm?2. Consider Both ends hinged.
< £8KN

“ 1| Page
A

BC33584B094892E4D85A8607F31706C7




Option B: | 6 kN
Option C: | 10 kN
OptionD: | 12 kN
9 A column of length 4m with both ends fixed may be consi :
) oflength ............. with both ends hinged. s
Option A: |2m
OptionB: |1m
OptionC: |3m
OptionD: | 6m
10. The slenderness ratio is the ratio of
Option A: | Least radius of gyration to length of the column
Option B: | Moment of inertia to area of cross-sectit
Option C: | Area of cross-section to moment of inerti:
Option D: oy

Q2

A

s erip hn(rload for a hollow cylindrical steel column of 38 mm
' im thick. Take length of the column as 2.3 m and hinged

ing constants as 335 MPa and 1/7500
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Q3 Solve any Two Questions out of Three
A A hollow shaft of diameter ratio 3/5 is tOMtIE

diameters which would satisfy bot,h‘, :
G= 80 GPa.

contraﬂexure

angr volume stress and strain induced in all
] -210Gpa AB=500mm, BC=200mm and AE=
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Solve any Two Questions out of Three

inclined at an angle of 55° with the axis of
magnitude of the maximum shear stresses in the<o
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